SAT A-n1>9uys )

HFRICBERSATODSIAIVEIS (REE7

SRR =

¢&RouteG®D
KRR

Evidence-Based
Reading

(i) BHEEE
UTOZEFETIERL.
EF/EEUTOREN
TONSTAD,
THEILhTWAIEE
N IT5xfEN 1T HEsm
HIEEBES. RBET
(. AT 200
DfElREZERDIR L,
HEPENTNED
RIRE(CTFERUL =D
TR TR
TED:E RERZEA
ChiRE, V95ART
TFAANYSI %R
IDCRIRE D IBfR % R
$HTLK,

l\\\) E&)E ll\ IE.IF_

Route G SAT Textbook

10. In the poem "A Party of Lovers" by John
Keats, the speaker describes a group of people at
a party.

Which quotation from the poem best supports the
claim that the partygoers are disinterested and
detached from the festive mood of a party?

(A) "Pensive they sit, and roll their languid eyes,/
Nibble their toast, and cool their tea with sighs,"
(B) "The fire is going out and no one rings/ For
coals, and therefore no coals Betty brings.”

(C) "A fly is in the milk-pot, must he die/ By a
humane society?/ No, no; there Mr. Werter takes
his spoon, Inserts it, dips the handle, and lo!
soon/ The little straggler, sav'd from perils dark,"
(D) "Arisel take snuffers by the handle,/ There's a
large cauliflower in each candle."

11. Research in psychology has consistently
explored the potential link between exposure to
violent media and an uptick in aggressive
behavior among individuals. Numerous studies
have ohserved a correlation between the two,
sparking debates about the nature of this
relationship. However, others argue that there
may be other influential factors contributing to
aggressive behavior. As such, proponents of the
stance that correlation does not imply causation
argue that it is unjustifiable to conclude a direct
cause-and-effect relationship. They posit that

Which choice most logically completes the text?
(A) media violence is often a reflection of societal
aggression, thus a cause of individual aggressive
behavior

(B) individuals prone to aggression are more
likely to be drawn to violent media content

(C) the impact of violent media on behavior
doesn’t rely on personal experiences and
upbringing

(D) societal attitudes toward aggression influence
the prevalence of violent content in the media

12. Identity theft, a pervasive issue in our di
age, occurs when someone unlawfully acqu
and uses another person's personal informa
for fraudulent purposes. This crime involves|
various forms, such as financial identity thef|
criminal identity theft, each posing unique ri
the victims. According to cybersecurity expe
Elena Martinez, identity theft can have sevej
consequences, including financial loss and

damage to one's reputation. emph
that individuals must be vigilant and adopt

proactive measures to safeguard their persq
information.

Which choice completes the text so that it
conforms to the conventions of Standard En|
(A) Technologist, Sarah Chang

(B) Technologist Sarah Chang,

(C) Technologist Sarah Chang

(D) Technologist, Sarah Chang,

13. Electricians play a crucial role in ensurin
safety and functionality of electrical power
systems. According to industry experts, a
significant reduction in electrical accidents ¢
achieved when professionals prioritize thoro|
inspections and preventive maintenance. __|
must be diligent in adhering to safety protoc|
minimize the risk of hazards. Additionally, st
current with advancements in electrical
technology and participating in ongoing trair|
programs is essential for electricians to
continually enhance their skills and knowled
ensuring they are well-equipped to address
evolving challenges in the field.

Which choice completes the text so that it
conforms to the conventions of Standard En|
(A) They

(B) Their
(C) H
(D) 1t

10. A: Choice A is the best answer because it presents the quotation that most effectively illustrates the
claim that the partygoers are disinterested and detached. This quotation describes the partygoers as sittin,
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pensive, rolling their languid eyes, and displaying a lack of enthusiasm by nibbling their toast and cooling
their tea with sighs. Choice B is incorrect because it does not directly support the claim of disinterest and
detachment. Choice C is incorrect because it describes a humorous incident with a fly in the milk-pot, but it
does not directly support the claim of disinterest and detachment.Choice D is incorrect because it mentions
taking snuffers and a large cauliflower in each candle, but it does not directly support the claim of
disinterest and detachment.

11. B: Choice B is the best answer because it most logically completes the text's discussion of the
argument that the correlation between exposure to violent media and an increase in aggressive behavior
doesn't necessarily imply causation. The argument suggests that individuals predisposed to aggression
may be more inclined to consume violent media content, creating a correlation without establishing a direct
cause-and-effect relationship. Choice A is incorrect because it presents a cause-and-effect relationship..
Choice C is incorrect as it supports the opposite opinion. Proponents arguing for a non-direct
cause-and-effect relationship may consider personal experiences and upbringing as influential factors..
Choice D is incorrect because it discusses societal attitudes influencing media content rather than
addressing the causation argument.

12. C: Choice C is the best answer. The convention being tested is the use of punctuation between titles
and proper nouns. No punctuation is needed to set off the proper noun "Sarah Chang" from the title that
describes Chang, "technologist." Because "Sarah Chang" is essential information identifying the
"technologist," no punctuation is necessary. Choice A is incorrect because no punctuation is needed.
Choice B is incorrect because no punctuation is needed. Choice D is incorrect because no punctuation is
needed before or after the proper noun "Sarah Chang."” Setting the technologist's name off with commas
suggests that it could be removed without affecting the coherence of the sentence, which isn't the case.

13. A: Choice A is the best answer. The convention being tested is pronoun-antecedent agreement. The
plural pronoun "They" agrees in number with the plural antecedent "electricians.” Choice B is incorrect
because the use of "their" creates a possessive pronoun but does not serve as the correct subject for the
sentence. Choice C is incorrect because the singular pronoun "he" does not accurately represent the group
of professionals, as it may exclude female electricians and does not align with inclusive language. Choice D
is incorrect because the singular pronoun "It" doesn't agree in number with the plural antecedent
"electricians "
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